### D3POC0174 - PURCHASE ORDER CONTRACT BID FORM

69

## <u>Description</u>: DISTRICT 2 ON CALL (ID/IQ) ROADWAY MAINTENANCE CREW STATE IN DUPLIN & SAMPSON COUNTIES UPON REQUEST

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Primary Routes	2,000	LF	55.00	\$110,000,00
2	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Secondary Routes	20,000	LF	55.00	41,100,000.00
3	0264000000-E	SP	Major Drainage Ditch Maintenance Primary Routes	40	SMI	\$\$50.00	\$34,000.00
4	0264000000-E	SP	Major Drainage Ditch Maintenance Secondary Routes	200	SMI	<sup>8</sup> 956.00	9190,000.00
5	0264000000-E	SP	Maintenance of Shoulders AND Ditches Primary Routes	90	SMI	\$350.°°	\$31,500.00
6	0264000000-E	SP	Maintenance of Shoulders AND Ditches Secondary Routes	520	SMI	0	\$182,000.00
7	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Primary Routes	40	SMI		\$128,000.00
8	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Secondary Routes	200	SMI	1.0	\$ 600,000.00

TOTAL BID:	\$2,375,500.00	
	•	

contractor JMC Clearing & Mulching LLC

ADDRESS 4959 Harrison-Phelps Rd. La Grange, NC 28551

Federal Identification Number 85-1829790						
Contractor's License Number 119583						
Authorized Agent Jaime Moore	CORPORATE					
Title Wewyxy Juho Y Signature	CORPORATE. SEAT.					
Date 7-16-2023 Witness Judy Harrison						
Title Withess Signature Made Ammin Date 7-16-	2023					
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bo						
Name Jaime Moore						
Email jaime harrison moore@gmail.com						
Phone 252-559-9960						
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPART	TMENT OF TRANSPORTATION					
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifica	ations for Roads and Structures 2018.					

Reviewed by NCDOT Mary Kinnel

Date 7/20/2023

Accepted by NCDOT Jutth With With Date 7/20/2023

#### **D3POC0174 – PURCHASE ORDER CONTRACT BID FORM**

# <u>Description</u>: DISTRICT 2 ON CALL (ID/IQ) ROADWAY MAINTENANCE CREW STATE IN DUPLIN & SAMPSON COUNTIES UPON REQUEST

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Primary Routes	2,000	LF	23.94	\$47,880-
2	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Secondary Routes	20,000	LF	23.94	\$478,800-
3	0264000000-E	SP	Major Drainage Ditch Maintenance Primary Routes	40	SMI	5,040-	\$ 201,600-
4	0264000000-E	SP	Major Drainage Ditch Maintenance Secondary Routes	200	SMI	5,040-	\$1,008,000-
5	0264000000-E	SP	Maintenance of Shoulders AND Ditches Primary Routes	90	SMI	5,985-	\$538,650-
6	0264000000-E	SP	Maintenance of Shoulders AND Ditches Secondary Routes	520	SMI	5,985-	\$3 112, 200 -
7	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Primary Routes	40	SMI	2,898	\$115,920-
8	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Secondary Routes	200	SMI	4898	\$579,600-

TOTAL BID:	6,082,65000	

CONTRACTOR_	PRIDE	Con	TRACTIN	Cy I	inc			
ADDRESS	12603	CAMP	CHACLES	RO,	BAILEY	NC	27807	

Federal Identification Number 46-3191475	
Contractor's License Number 74171	
Authorized Agent Earc S. WA, NWEIGHT	STAL
Title CORP. SEC. NE CHATIONS Signature	CORPORATE
Date 7/19/23	
Witness CARROLL RAYNOR	
Title SECRETARY Signature Challes	Date 7/19/23
Point of Contact for Post-Bid Inquires (e.g., Letters of In	ntent, Insurance, Bonds, and Contract Execution)
Name Earc S. WainwargHT	
Email erica pride inc. net	<del></del> 3
Phone (252) 702 - 91609	
THIS SECTION TO BE COMPLETED BY NORTH C.	AROLINA DEPARTMENT OF TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 o	the Standard Specifications for Roads and Structures 2018.

Reviewed by NCDOT Mary Kinnel Date 7/20/2023

Accepted by NCDOT Mathe Mithell Date 7/26/2023

### D3POC0174 - PURCHASE ORDER CONTRACT BID FORM

### **Description:** DISTRICT 2 ON CALL (ID/IQ) ROADWAY MAINTENANCE CREW STATE IN DUPLIN & SAMPSON COUNTIES UPON REQUEST

LINE#	ITEM#	SEC DESCRIPTION		QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Primary Routes	2,000	LF	40.35	41,100 45,155.00 V
2	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Secondary Routes	20,000	LF	34.55	691,000 =90,220,00 GJ
3	0264000000-E	SP	Major Drainage Ditch Maintenance Primary Routes	40	SMI	4860.00	194,400 267,300.00 GD
4	0264000000-E	SP	Major Drainage Ditch Maintenance Secondary Routes	200	SMI	4260.00	452,000 660,300.00
5	0264000000-E	SP	Maintenance of Shoulders AND Ditches Primary Routes	90	SMI	4110.00	729,900 851,550-00 GT
6	0264000000-E	SP	Maintenance of Shoulders AND Ditches Secondary Routes	520	SMI	6910.00	3,593,200 W
7	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Primary Routes	40	SMI	3250.00	130,000
8	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Secondary Routes	200	SMI	2650.00	410,750.00 GJ

TOTAL BID:	4,420,675.00 W

CONTRACTOR TILANIE Inc

ADDRESS 282 Harris (rook RD JOCKSON, 1110, nc 28540)

Federal Identification Number 20-5487069	
Contractor's License Number 63573	
Authorized Agent Tim Lanier	CORPORATE SEAL
Title fresiden T	
Signature / 1	CORPORATE SEAL
Date 7-20-2023	
Witness Ashleigh L. Williams	
Title Secretary	
Signature Oshlosofe L. Williams Date 7,60	2023
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, B	Sonds, and Contract Execution)
Name Tim Lania	
Email time lanier grading . com	
Phone \$10-340-3344	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPAR	RTMENT OF TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifi	cations for Roads and Structures 2018.
Reviewed by NCDOT Mary Kinnel	Date 7/20/2023
toward by NGDOT O the Man Millian	7/70/2028